
  PREFERENCE 

 1 

 
 
 
Les enchères de Sud sont-elle correcte? 
 

1) 

 RDV65 

 V65 

 54 

 984 
 

 
Sud Ouest Nord Est 

  1 – 

1 – 2 – 

2 

2) 

 9752 

 R4 

 V876 

 DV5 
 

 
Sud Ouest Nord Est 

  1 – 

1 – 2 – 

2 

3) 

 D4 

 R7654 

 V98 

 D54 
  

 
Sud Ouest Nord Est 

  1 – 

1SA – 2 – 

2 

4) 

 RV654 

 V543 

 3 

 V108 
 

 
Sud Ouest Nord Est 

  1 – 

1 – 2 – 

2 

5) 

 10987 

 A6 

 D7654 

 R5 
 

 
Sud Ouest Nord Est 

  1 – 

1 – 2 – 
Passe 

6) 

 653 

 RV10985 

 3 

 D98 
 

 
Sud Ouest Nord Est 

  1 – 

1 – 2 – 
Passe 


